1 4

r

PODELNY PROFIL

VARIANTA V2
1:10 000/1 000

5 g€gZ Sl 2 J 2sF Nis
S ) > (] mi| e 2
3 £0 2 o N 5 X s
3 SR 3 S 5 Y| @
= =2 00X = >Q >
= > X 0 o 1 a
3 53s||3 W IR 3
Q s <. mm N 3 o 3
Slls =g s | =3 B
S - Q@ . - 3 % o |\ o
S WIS @ L 3 - B S| S b
T <3 3 gl E 3 Rz . 8| £
= =% S =S| kS g S gals |2
S 5|8 £ e [T |3 |2 [Eols |8
2z 8 S el|2 3 3 @ T < |2 g
T =|0 . X Z||G Q Q 8 =S - |C =
IR g
s o= =2 5
<E5x 8 < :
2233 o 2
< \ Q
K Y QN 2 y @
w a® % Q c © \ — z
|y 2 & o m [ Q c Z
? Q98§ « — < 3
n 2tz wil Q| i 5
w s © e 4
& 2% 5 5 2|| Se =2
= 3 s || =X 0 |f
n o g o c— > b
S O] <
W S 2 | L) &
> O © () m
3 30 S
@) - - i
—_— wd NONE
Z y Q% | e |2
< || 22 N O
S5 s = o Q-5 © |<
S = 0w © =3
3 2 d4l| 908 = o
ZIR 2| Og” c S2
23 il Eoc ISE
zls d|| B S ol
o Z o o (14 O (S
W. o D,y S = |
&l s AL © o35S . :
S =) n > ~ @ |3
N ()} (o] = — a
= oz . 228 %2 23
NI m C < d a [ . m Y M
-l > - (O ‘T o O C 2
L o ) S o35 \¢ 3 o ==
8 = LLl = ™ o w
>0 S UR Ol - (2] (/)] o = % £ n o
n = pd ] T \— vy c Q0 ) = w.
Z s ct VWR|| S|3 &5||.€E8 3£
> 2 = s Y[f Ellzeg&® SalS 3 ®ls
o2 s<|3 §||{EST T8 8
|5 g T 2,48 Z||iQLTE S 83|t
0|2 3 2 28l 4||8N® |z “lg O £t
Z|S|5|8]8]|3 8 ez Z||2D >33 ma|z A Qf
3
E
. _ S 901 618¢ NX
17601 — 199'98¢ — 165266 — © :
re)
GYE'LL —— 198688 —O0Z'S6E —— I
€571 —— 887188 —pgZeE —— 2
€090 —— v96'8L6 — 191 695 ——
72,2l —— 168'9/8 —G19'68 — T
0621 ——890°6LE — 2188 —— O©
S
170Gl ——S6YELE —OEG8BE—— L0 €62 00G°€ L)
s o —zivee—iezeee— 0 S5
807 €7 —— 660’1 L€ — L0€ VBE —— gfe
81067 —— SGZ'0/E —E17'€66 —— i
97717 ——5GY'698 —E8906E—— O ¥ 161 867°€ Ld
o) =
127’62 ——599'89¢ —T80T66—— N 8
c206) —sgg19 —ssg9e— 2 G
|
700/ —— 550'/9€ —6S0 ¥8E —— 151 871°E oM
019 7} —— 552'99¢ — 598096 ——
257 €L ——SGP'S9E —L068LE—— ©
o
OpE vl ——959V9E — 10066 —— D
£E & 0ee 6L —958'c9e — 16l 6Le—
883 956 91 —— §50'€9€ —0L9'6.€ —
2 S — — —] £le
m S 16/ "/l —— G52 79 —900°08€ —— g
SRS 290 /L —— S5 198 —L1G8IE——] O =k
_ _ o &S
£75'/1 — 959008 —8Lb'BLE—— IS
/66 /L —568'66e —z6L 108 — N
1108l —— 550'6G€ —990'/LE ——
959'61 —— 22V'85€ —8LT'8LE ——
092 07 —— 082 '85¢ —0968/6—— O
S
s 196 72— v£9'85¢ —S6518E—— L0 V72 1672 Md
Lls
{ 0/z0—v8ese —ogrere— N S5
/ 046 07 —— 8465 — 0L 098 —— e
|17 €7 —— V87 09 —G6Y €8E —— T Wweezdl
50067 —— PE8 09 —6E8'S8E—— O
o
805 6 —— v8E'L9E —T68'v6E—— N
| 17 Oy — ve6'L98 —S0rzor— N
1£6'CE —— V8 298 — G 96E —— &
20966 —— PE0'E9E — 989’866 ——
V19 16— P8G €9 —8SY Lo —— O |
S
685 OY —— VELPOE —EL9V0r—— D
18t —— ¥89'9E — b2 60p ——] N
€LL 9y ——¥€C'39€ — L00 ¢y — oYz 168°L 1d
= \ €68 67 —— V8L 'G9E — LL9'Ghy —— oS
2 21805 —PEL9E — L I — oG8
I 91126 — 18399 — 0008l —— PSP
[® : OVZ LELL
\ G198 —— VeV L9E — BV e — T
£76'95 —— V86,98 — L06'Th —— Sl
61 /G —— EG'89E —ELE 9Ty —— S
71y 65— VB0'69E —8BY8Tr—— o |
o
£6/'85 —— VE9'69E — L9EBTY —— LD 696 201 Mid
. . <~ com
6L 16— 8L 0L —E16 LTy — 28
£/1°95 —— YEL 0LE — L0682y —— bl
L7E95 ——¥8C L LE —GC9 " Ley — 696 27SL d1
08 76— VE8 LLE — V0L 9T ——
o
082 €6 —¥BE TLE —99'5Tr —— O\
997 16— ve6'2LE —TeT ey —o T
60E 87 —— V8V '€LE —E6L LT —— T
10y —— VE0VLE — 110’V ey ——
L v ——p85 718 — G668l —— O _ roereotld
0 fsd f=1
88Y 1y —— V€16 —2eIUY —— O por =4
66¢ 68 — 189'GLE —E80 S —— T Ay
€S L6 ——ET'9LE —LLL eV — 06 #06'0 oM
202 ve —— 8L '9LE —9G0' by ——
£ _ _ e
E S E 195 CE —— Ve LIS —188 0l — O Sz
SS3 04908 —— 108°L18 — Lb¥ 80 —— o g
SN LU
& 269/ ——980'8/€ —899'50p —— *
€667 —— 510'82€ —800 Y0y —— 162 1890
809 €7 —— €V 11€ —LGE L0y —— ol
0/l e —T e —Te Bt — ©  So
€ _ _ S Ify
E /5717 ——7SY'9L6 —B0L 168 —— LO S
<8 5 sle  L£01.70dd
2 96, 02— 115626 —eL898e— S HS
"o S
/W 79861 ——20L'7.€ —99G ¥6€ —— /Wd /€0 160 dM
799l —— 128'€L€ —12'516 —
L0V — 120l —8UviE—] O el
0 S5
29z —0er'eie —z89ele— N glg
EE ¢ 165 0—L202e —8isTe— O &S
o8 <« . .
S8 ——EY8LLE —¥EB L LE—
[Re ™ T \ T
JORSATY —— 199’} /€ —EV8'LLE —— 960 0110 %d
x O > g
= o/ ——6602.€ —8€02LE ——
8L S 960 0£0°0 dL
e ——0VS2LE —O0LGTLE S
k=i 8l
© <t
2 > < >
& 5 s &
>l
= LL > m =
,hluu O s H U,| O
< 5D g2
N E b N —
oxr > < < S == -
NI O — N = w<cw =
o= = = foa) = = anlu m
xO O L - > > ==
1 Lo @) = o W
<O < = I = O OXE =
N O Z— I X XN (95}




